    حول الكسور العشرية الى نسبة مئوية
_____    =  0.08                         _____  =  0.05                       _____     =  0.6 

_____    =  0.12                        _____    =  1.07                       _____   =  0.02 

_____    =  1.12                          _____  =  2.15                       _____   =  0.20 

_____    =  4.25                            _____  =  0.1                       _____   =  0.15 
_____    =  1.45                          _____  =  1.15                       _____   =  0.22 

_____    =  2.8                          _____  =  0.15                       _____   =  0.18 

حول النسب المئوية الى كسور عشرية
_____    =  0.08%                       _____  =  0.3%                     _____     =  6% 

_____    =  125%                      _____    = % 17                     _____   =  20% 

_____      =  14%                       _____  =  2.5%                    _____   =  3.6% 

_____    =  2.15%                        _____  = % 12                     _____   =  15% 
_____      =  75%                       _____  =  2.8%                    _____   =  1.5% 

_____    =  12.5%                        _____  = % 25                     _____   =  10% 

3. اكمل الجدول التالي:
	نسبة مئوية %
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